MATH 54 SUMMER 2017, QUIZ 13

Let T': P, — IP; be the function defined by
T(p) = p(1)z + p(2).
(a) Find T(1), T(z), and T(z?).

T = x4l
(Y= X+2
() = x+ %
(b) Find the coordinate vectors relative to C of T'(1), T(z), and T'(z?).
B={1,z,z*}
C={1,z}

(o), = U\
e, = 7
[t = [

(c) T is a linear transformation (you do not have to check this). Find the matrix of T
relative to the bases B and C.

=2y
C[T‘SJB L\ \ l’R
(d) Is T one-to-one? Onto?
: RZ=BL-Rl 1y 2 4
R B [o -\ —A
T is hi“\: ov\,c-—\-u—aw-e Lec«M&o E’LTFX% dO{’.S M&' L"K\Ie
a :‘>‘Iv or I ekr(’,Vj column .
T _‘:2 6\'\3\—” Le,awue f,tT_]ﬁ hWas & ?'N‘VV& n ev’ev\.‘j Vold«

Date: July 7, 2017.
1



